PEI CHUN PUBLIC SCHOOL

PRIMARY 4

END-OF-YEAR EXAMINATION 2020

SCIENGE
SECTION A

Time: 1 h 45 min

Name: { )

Class: Primary 4/ )

Date: 27 October 2020

Seience Teacher:

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTH. YOU ARE TOLD TG DO SC.
FOLLOW ALL INSTRUCTIONS CAREFULLY.
ANSWER ALL QUESTIONS.

SHADE YOUR ANSWERS ON THE OPTICAL ANSWER SHEET (0AS) PROVIDED.

www.testpapersfree.com

BP~1013




BP-1014

www.testpapersfree.com



BP-1015

Saction A (28 * 2 marks)
For questions 1 o 28, choose the most suitable answer and shade its number {1, 2, 3 or
4) on the Optical Answer Sheet (OAS) provided.

1 The table below shows how some living things can be grouped.

Living things

Which one of the following is the most suitable heading for group A?

(1) fungi

(2) plants

(3) bacteria
(4) mammals

2 Which animal is NOT a repiile?

{1) 2)

(3} (4)
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3  The diagram shows a man sitting on & raft.

Wood is used to make the raft because wood

{1} s not shiny

{2} breaks easily

{3} does not sink in water

(4) does not allow light to pass through

4 A ball was attracted to a magnet, as shown in the figure below.

T G+ 16112 1

The ball is made of

{1) steel
{2y wood
(3} rubber
{4) plastic
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5

Which of the following shows the correct order when food moves through some
parts of the digestive system?

(0
K @ 2 %
large stomach small
intestine infestine
(2}
4{9 ? K
stomach sirall
infestine
(3)
&S e,
small stomach
intestine intestine
(4)
<) > &
stomach small
intestine intestine
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6 The diagram shows a plant.

Which part, (1), {2), (3) or (4}, is ihe stem?

7  Which of the following is a source of light?

9 ~a
ah £
streef lamp

(3}

Sof P4 EYE fSeclion A7 2020/ Pape £ of 1§

{2)

moon

(4)

mirror
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8  The diagram below shows the growth of a young plant with two missing stages
Gand R.

Q R

(1)

(2)

)

(4}
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9 Study the diagram below.

Which of the following statements is true?

¢ (1) Both objects have the same size.
(2) Both objects have the same mass.
(3} Both objects have the same shape.
(4) Both objects have the same volume.

10  Which one of the following is the best conductor of heal?

(1)} apaper plate
(2) & metal plate
{3) a plastic plate
{4} @ ceramic plate

11 Which of the following can bear fruits?

(1) fungi
(2} bacteria
(3) flowering plants

(4} non-flowering plants
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12 Aisha wanted {0 keep a hamster as a pet. She thought of three possible ways

A, B and C fo keep her hamster.

wire mesh

food
B
wire mesh
hamster

C

Which one of the following is corract?
Least suftahi_e way to Wost suitable way fo )

B keep the hamsfer keep the hamster
(1) A B
(2) 8 A
(3) B C
(4} c A

S¢/P41EYE ] Seclion A/ 20207 Page 7 of 15

www.testpapersfree.com

BP-1021




BP~1022

13 Jasper observed a living thing under the microscope.

living thing 7 img things

substance S substance S

Rased on Jasper's observation, which is the correct conclusion?

A Living things grow.
B Living things respond.
C : Living things reproduce.

(1y Aonly
{2) Bonly
{3) Aand Conly
{4) Band Conly

14 The table shows lvan’s answers to four questions about moss.

Question Answer
A -~ Does if have seeds?  Yes |
B =~ Canit produce flowers? Yes-
G~ Can it make its own food? | Yes
ID - Does it take in water o survive? | No

Which question was answeted correctly?

{1 A
2 B
(3 C
4 B
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1§ Hassan had to classify the three animals shown.

carp " lizard

He classified them with the help of the chart below.

[ carp, lizard, frog }

Question A

Cluestion B

a{fxfhat are questions A and B?

Queéﬁon A Question B
{1} Do they have legs? Do they breathe through gills?
{2} Do they have legs? Can they live on land and in water?

{3} | Are they covered with scales? Do they breathe through gills?
(4} | Are they covered with scales? | Can they live on land and in water?
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16 Where can bacteria be found?

A 1 inthe body of living things
B onihe furniture in the classroom
C : inthe food we eat

{1} Bonly
{2) AandBonly
(3y Aand Conly
(4) A,BandC

17 A student made three statements about bacteria and mushroom.

A : They reproduce by spores.
B : They do not make their own fcod.
C : They can be seen only under a microscope.

Which of the following is correct?

" Bacteria Mushroom
(1) AB B c
@ 'B,C ] AB
T o —
(4) ~ ABC A B

18 Which of the Tollowing correctly identifies the parts of the digestive system?

digestion begins | digesteﬂ-fagg, izsarbed into
Il “mouth | small intestine
{2y | stomach small intestine |
@1 mouth large Intestine
) small intestine large intestine
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18 Bin Xun hangs four weights on four pieces of sirings, W, X, Y and Z, based an
the maximum mass each piece of string can hold as shown below. The strings
are of the same length and each plece is made of a different material.

A AL L A ol

Y W
1kg 3ky

X z
2kg 4 kg

Which of the following correctly shows the four strings arranged from the

weakest fo the strongest?
Weakest » Strongest
{1) Y X W Z
(2) X Y Z W
3 w Z Y X
(4) X Z Y W

20 Mary stroked three bars with the same magnet in the directions shown below.

set-up A set-up B sef-up C
N N
B Ened Rt Rt N
8 5 8 ‘
i | g ,,: e
M .*h‘_’f ._”_'__'__d_b__‘_ﬂ_’-‘ ﬁﬁﬁﬁﬁﬁﬁﬁ +
steel bar copper bar steel bar

After thirty strokes, whatwould most likely be the number of paper clips attracted
fo the bar in each set-up?

set-up A set-up B setup G
(1} 0 3 | 3
@) 0 3 0
@) 3 0 3
4} 3 G 0]
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21 Three bar magnets AB, CD and EF can be arranged as shown below.

A B

'.c; - Sle

Which one of the following arrangements of the magnets is NOT possible?

(1 : . (2)

ClA B [e]c
D FID
® [D G @ [E
=
F
= A B

On a hot day, the gaps allow the railway tracks to

(1) gain heat and expand
{2) gain heat and contract
{3) lose heat.and expand
{4) lose heatand contract
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23 The diagram shows plant M growing on a high branch of a free in the forest.

The leaves of plant M can

(N
(2)
(3)
S

make its own food

keep the tres upright
get food from the tree
absorb water from the branch

branch of tree
plant M

24  Alidrew a table and used it fo compare the life cycles of some living things.

Life Cycle
Characteristic mosdguito chicken grasshopper

g‘?: cgtg??yeung look fike No Answer Q Yes
| Cluestion P No Yes Yes
What can Question P and Answer Q be?
| Question P Answer Q
{1) Does it fay eggs on land? Yes
{2} Does it fay sggs on land? No
(3) | Does i give birth to its young? Yes
(4) | Does it give birth fo its young? No
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25 Muthu studied the Iife cycle of insect X and recorded the number of menths for
each stage of its life cycie shown below. However, he did not present the stages
of the life cycle in the correct order.

Stages Number of months
nymph ' 6

egg | 1

adult 8

Rased on Muthu's results, how many month(s} does if take for insect X fo
become an adult after the egg has haiched?

{1} 1 month

{2} 5 months
(3) 6 months
(4) 8 months

26 The container hokds 40 cm?® of water and 80 cm?® of air.

plunger

pump

air-tight container alr

When the plunger was pushed in complstely, 10 em?® of air was forced into the
container. What would be the final volume of the air in the container?

(1} 40cm®
(2) 50cm?®
(3) 60cm?
(4) 70em?

So/P4JEYE Section AS 2020 fPage 14 of 15
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27 Boon Ping heated different volumes of water to different temperatures as
shown in the table below.

beaker voluﬁme of water {ml} | temperature (°C)
A 70 30
B 70 40
c 80 30

Which of the following is true?

{1) The water in beaker A has less heat than the water in B.

(2) The water in beaker A has more heat than the water in C.

(3} The water in beaker A has the same amount of heat as the water in B,
{4} The water in beaker A has the same amount of heat as the waterin C.

28 Jenny conducted an experiment to find out whether light can pass through
three sheets, A, B and C, made of different materials. She arranged the sheets
differently in set-ups P and Q as shown.

torch

L)) ) S| (]

l |} bbb
M 2 3 4bcem 16 20 30 40an

Setup P Set-up Q

When the torch was switched on, the distance travelled by the light for sach
set-up was measurad and are shown below.

Distance travelled by light
Set-up P 20 em
Set-up Q 30 cm

Which sheef(s) did not allow light fo pass through?

(1) Aonly
{2y Conly
(3) Aand Conly
{4} Band Conly

End of Saction A
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Section B (44 marks)
For questions 20 fo 41, write your answers in the spaces provided.

28 Huf Fen saw some living and nen-living things in the garden.

TS
A

- I o~
L D /7

State If X and Y are living or non-living things.

(8} Xisa . . [11]

(b} Yisa . [1]

SCORE
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30  Draw lines to match the three organ systems to their functions. [31

organ systems functions

® removes solid wastes

skeletal system @
transports substances to

® il parts of the body

circulatory system @
® supports the body and

gives it shape

ragpiratory system @
takes air into and out of

® the body

31 The diagram below shows the stages in the life cycle of a butterfly.

stage N
{a) Name Stage Mand N. ra
Stage M: _
Stage N:
{b). State one other animal that has a similar number of stages in its life cycle as a
butterfly. {11

 SCORE
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32 Max used an instrument o measure the temperaturs of water,

insfrument

> i
HE] | TS ihiti RS | i 3 i

X
)

.,
ER
3 v
iy,
e,

“““““
L X
e,

i s e

— e wi et s

{a} What is the instrument called?

(b} What is the temperature of water?

°C
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33 Riya classified four animals in the chart below.

Animals

penguin

BP-<1034

{a) Based on the chart above, what characteristic did Riya use to group the animais?

Group A

Group B:

[1]

{b) Use another characteristic fo regroup all the four animals in the chart in (a} into
two groups. Give a suitable heading for each group. You do not need to draw

the animals.

Animals

|

Heading:

Sc! PA1EYE | Section B/ 2020/ Page 4 of 18
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{c} The diagram shows two animals,

{iy Which animalgroup do these animals belong fo?

[11]

BP-~1035

(if} State one characteristic of this animal group.

(11

8¢/ P4/ EYE/ Section B/ 2023/ Page 5 of 18
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34 Liling placed four similar tomatoes in four identical sealed containers. She placed
containers A and B in a cold place and containers C and D in 2 warm place.
Substance X removes the aif in the container.

air

substance X

tomato - |

container A (cold) container B (cold)

substance X

contaiﬁar C (wam}' container D {warm)

in which container, A, B, C or D, would mouid first appear on the tomato? Explain
your answer. [2]

SCORE
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35 Jia Wei used the set-up shown below (o study.a cerfain property of materat. He
hung four strips of fabric made of different materials from a pole. Al strips had
one end placed inio a container of red coloured water.

pole —

container with red
coloured water —

IEETERIENIENIENE

[
+
¥
LT —

The diagram below shows the shaded parts of the strip that were stained red at
the end of the experiment.

D
(a} A raincoat helps fo keep out the rain as shown below.
; raincoat
r /
&8 53
{i} State a physical property of fabric D that makes it most suitable to be used to
make a raincoat. [11

(i) State another property of the fabric that allows the boy to move his arms easily
when he is_ wearing the raincoat. [1]

SCORE
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(b) Jia Wei repeated his experiment with strips A, B, C and D. This time, he placed
the strips with identical mass into a bucket of water and removed the strips from
the bucket to weigh after five minutes.

Which strip, A, B, C or D, would have the feast mass after five minutes? [ 1]

{¢) Jia Wei conducted another experiment using the four strips. He wanted to find
out if the thickness of a strip of fabric C affects the amount of water absorbed by

the strip.

Tick {+') wo variables that Jia Wei must keep constant to ensure a fair test.
2]

length of the strip

material of the strip

thickness of the strip

amount of water absorbed by the strip

| SCORE
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36 Ellie wanted to investigate how the number of batteries affects the strength of the
eleciromagnet using the set-up below.

3 om

turms of wire

Z
v
battery

She placed the electromagnet 3 om from some pins and counted the number of
pins that were atiracted to it.

Her results are shown beiow,

Number of hatteries Numt:z::g;ﬁ a;tf::tcteé
1 2
2 4
3 8
4 8

{a} Whatis the relationship between the number of batteries and the strength of the
electromagnet? f1]

(b} Using the same sef-up above, suggest ancther way Ellie could increase the
strength of the electromagnet. [1]

{c} Ellie repested her experiment and placed the pins 6 cm away from the
slectromagnet. Would the magnetic aftraction an the pins be stronger, weaker or
the same as before? [1]

SCORE
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(d) When a bar magnet was placed near the electromagnet, it moved away from the

electromagnet as shown below.
fixed electromagnet
N S
bar magnet
(i) Name the poles X and Y of the electromagnet. [1]
X
Y:
(i) Explain your answer for (i) above. [1]
SCORE
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37 Reyna conducted an experiment in 2 classroom using plants S, T and U as
shown, She recorded the water level, H, at regular time intervals,

roots wrapped
in plastic bag

waler ...
4.

(a} Which fwo plants should be compared to show that the roots of the plant absorb
water? [t}

Plards _ and

(b} identify the line that represents the results oblained for the plants in the graph
below. Fill in the boxes with planis §, Tand U, i1]

water level, H (cm)

plant

plant

plant

—-
time (hour)

SCORE
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{c) The diagram below shows part of a slope.

A farmer wanied to grow a type of plant on the slope.

Which of the following plants, D or E, can the farmer grow so that the plants would
not be esasily washed away by the heavy raln? Explain your answer. (1]

SCORE
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38 Ah Seng wanted fo find out the most suitable terperature on the growth of seeds.
He planted four seeds, each at a different temperature and courted the number
of days for roots fo appear.

The graph below shows his results.

number of days for

roots io appear
A

25

20
15
10
5 '
a N
15 20 25

{(a} Based on Ah Seng's results, at which of the above temperatures did the seed
grow the fastest? [t}

.
:

temperature (°C)

{b) Other than warmth, name another condition that the seeds need to grow. [ 1]

(¢} The diagram below shows one of the seeds that Ah Seng observed after some
time.

Which stage of the plant's life cycle did he observe? [1]

SCORE
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39 A pebble was placed in a dish as shown below.

pebble

Mh

Jannah transferred the pebble into a beaker as shown below.

100 cm® —

poo—
e ad

pebble
-

e |

{a) Based on her observation, state if the pebble is solld, liquid or gas and give a
reason for your answer. {11

(b) Jannah poured some water into the beaker as shown in Diagram 1. Next, she
removed the pebbie from the beaker in Diagram 2.

after 100 om® —
removing
the pebble

w—

Diagram 1
{i) Explain why the water level dropped after the pebhle was removed from the
beaker In Diagram 2. {11
(i} What is the volume of the pebbie? F1]
cm?
'SCORE
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43  Kumar had three wooden frames as shown below.
frame P frame Q frame R

¥ 10 cm 10 cem

10 om

10om

He hung the frames between a forch and a screen. The shadows formed on the
screen are as shown below.

e R P T

creen

s
LSS LS LS

WO Gy e w s SRR g R s e d e 4 A on T o e b e d
R R T T e

shadows on screen

(a) When the torch was switched on, Kumar was abie fo see the wooden framesin a

dark room. Explain why. (1]
{b) Which frame was hung at position X? [1]
Frame

{¢) Shadows were formed on the screen. State a properly of light that causes
shadows to form. (1]

SCORE
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(d} Kumar removed all the wooden frames and hung object T betwean the torch and
the screen.

obiect T
Which of the following shadows could be formed by object T?
Tick (¥} the correct box. {11
black red Black . ommme.

score”
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41 Peler conducted an experiment using the set-up shown below.

beaker of
water

He poured the same volume of water into three identical beakers. He recorded
the time taken for water {o boil when materials E, F and G were placed below the
beaker of water.

His results are shown in the graph below.

temperature of water in beaker (°C)
A

110
100 — ~e— ;
90 b ST leeT el
80 - P
70 /, e ,.‘.m

B0 |
50 A
40 [
30
20
10

0 - — fime {min)
0 5 10 15 20

(a) What was the temperature of the water at the start of the experiment? [1]

°C

(b} Explain why the temperature of the water in alt three beakars change with time.
(1]

SCORE
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{c} Peterwants to bring a container of cold drinks for a picnic. He wants to keep the

drinks cold for the fongest period of time.

Based on the results, which material, E, F or G is most suitable for wrapping the
{2]

container? Explain your answer,

End of Section B

Setby :Ms Nilah and Mrs Candice Gwee
Vetted by: Mdm Samantha Gooi and Ms Tan Hwee San
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ANSWER KEY

YEAR: 2020

LEVEL: PRIMARY 4
SCHOOL: PEI CHUN PUBLIC SCHOOL
SUBJECT: SCIENCE
TERM: END OF YEAR EXAMINATION

Ql 2 Q2 1 Q3 3 Q4 1 Q5 4
a6 |3 Q7 |1 Q8 |4 Q |2 Q10 |2
Qi1 |3 Q12 |2 Q13 |4 Q14 |3 Qls |3
Qls (4 Q17 (2 Q18 |1 Q19 |2 Q20 |4
Q21 |3 Q2 |1 Q23 (1 Q249 |1 Q25 |3
Q26 |3 Q27 |1 Q28 |1
Q29 | (a) Xis a living thing

(b)Y is a non-living thing
Q30
Q31 | (a)Stage M: Pupa

Stage N: Larva

{b)Mosquito
Q32 | {a)Thermometer

{b)26°C
Q33 | (a)Group A: cannotfly  Group B: canfly

(b)

- | { Have feathers No feathers

Penguin Ant

Eagle Bee

{c)(iyMammals

{i)They have hair on thegon their bodies.

|
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Q34

C. Mould needds air and warmth to grow. Only container C has
air and warmth. Hence, mould will first apper on container C.

Q35

(a)(i)it is waterproof
(i)t is flexible

(b)Strip D

{c}¢’ Length of the strip
v Material of the strip

Q36

(a)As the number of batteries increases, the strength of the
electromagnet increases.

{b)She could increases the number of turns of wire around the
bar. '

(c)Weaker

(d){i)X:South Y:North

{(ii)The North pole of the bar magnet and part Y of the
electromagnet repelled each other. When like poles of two
magnets are facing each other, they repel. Hence, Y is also north
and X is south.

Q37

(a)Plant S and V

(b)Plant V, T, S

{c)Plant E. Plant E has more roots than plant D to anchor it
firmly into the soil, so it will not be easlity washed away by the
heavy rain.

Q38

(a)At 25°C
{b)Water
(c)Young stage

Q39

(a)Soild. The pebble did not take the shape of the beaker and
dish so it has a definite shape. Only solids have a definite shape.
{b)(i)The pebble is a matter and occupied space in the beaker so
when the pebble is removed, the water level will drop as the
water will occuoy the soace previously occupied by the pebble.
(ii)a0cm®

Q40

{(a)The light from the torch was reflected by the wooden frames
and entered Kumars eyes.

{b)Frame R

{c)Light travels in a straight line.

(d)*tick the 3™ box*

Q41

(a)30°C

(b)The water in the beakers gained heat from the flame. Hence,
the temperature of the water in the beaker increased and
changed with time.

2
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(c)Material F. The temperature of the water increased the
slowest.Material F is the poorest conductor of heat.
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